The number of REAL nth roots of a number
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— which means the positive root when there are two roots.

J in this situation indicates the

Principal Root

There are

J  asks for the
-/ asks for the

+,/ asks for the

03 sz
2° = g

even roots of every positive number.

Positive Root

Negative Root

Pos & Neg Roots

What is the cube root of 8? 2

Is there another cube root of 8? /\)O



(-2)5 = _—32

fifth
What is the &{e root of -32?7 — 2_

fifth
Is there another @z{e root of —327? ,\50

There is One odd root of a number.

What kind of number will come from each?
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x15 Pos or Neg :
A real number raised to an

12 even power is ALWAYS

= (Pog POSITIVE.
x7 Pos or Neg A real number raised to an
odd power can either be
3 negative or positive.
X Pos
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The answer to an odd root has the Sale sign as the radicand.

Why is there no principal root of an odd radical?

By definition the Principal Root is the positive root
when there are two roots but an odd radical gives
only one answer.

What kind of answer will come from each radical?

1. 5 ’
v Pos orNeg  The answer from an even

radical must be POSITIVE.
"Principal Root"

2. 4/‘ Pos
0 The answer from an odd
P
3. & > radical can be anything.
4. 19, . Pos or Neg



1. Jx* = the principal square root of x> = \ X ) Simplify each. Use absolute value symbols when needed.
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5 even radical means
you might need abs
r—\ value symbols.

1. r

ﬁ} even radical means
12 YY\ you might need abs

value symbols.

\[\/ X odd radical means

you DON'T use abs
3 1)40 value symbols.
Simplify each. Use absolute value symbols when needed. 5 J36x2 = (9 \ I \
L dical
2. Jxt = >< even radical means %E%riz]hltc:ezje:g:
l/ you might need abs value symbols.
(XL_{> 4 value symbols.

even radical means 6. .\‘9 q even radical means
3 you might need abs /\ X \6{ you might need abs

6 _ I bols.

3. Jxb = >< value symbols. ¥ \ value symbols

- (—

L‘{ even radical means 7. JxbP = KX ( X
4. /9_\.8 — 5 you might need abs / even radical means
value symbols. you might need abs

s value symbols.
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8 ™ =

even radical means
you might need abs
value symbols.

9. J25a'%h7c =

even radical means
you might need abs
value symbols.

odd radical means
you DON'T use abs
value symbols.

10. 36 = \Xb - X

15. T T -

odd radical means
you DON'T use abs
value symbols.
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X’l \< odd radical means
you DON'T use abs

value symbols.
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1. D = xj

odd radical means
you DON'T use abs
value symbols.

2 5= - 7y

odd radical means
you DON'T use abs

value symbols.
P
X odd radical means

13. 7 = X
)\ you DON'T use abs

Xn_ )( % value symbols.
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even radical means
you might need abs
value symbols.

16. ¥16m'*n* =
©
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17 S32RES =
dd radical
2 gise &ipai ) ERe
value symbols.



Absolute value symbols may be needed when taking an even root.

Absolute value symbols are not used when taking an odd root.

even

If the result of an root could be negative then absolute value symbols are needed.

This will occur when the result of taking the root is a variable raised to an odd power.



